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AU/TP/ME-404 (CBGS)
B.Tech., IV Semester
Examination, May 2019
Choice Based Grading System (CBGS)
Fluid Mechanics

Time : Three Hours
Maximum Marks : 70

Note: 1) Attempt any five questions.
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ii) All questions carry equal marks.
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iii) Draw neat sketch, if required.
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iv) In case of any doubt or dispute the English version
question should be treated as final.
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1. a) Whatdo youmean by centre of Pressure? Explain. 7
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b) 4m x 4m square tank is filled with water. Height of tank
is 2m. Find total pressure and pressure centre on vertical
wall. 7
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2. a) What are the different type of flow? Differentiate

compressible and incompressible flow. - 7
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b) What do you mean by Pressure scale? Define absolute
pressure. ' : 7
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. What do you mean by water hammer? Discuss the power

transmission through Pipe Line. 14
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Find power Loss due to friction in a circular pipe when length
of pipe 300m, diameter 15cm and discharge 28 1/s and
f=0.01. 14
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A valve is attached to hand pump of 1200m length. Water is

flowing with 4m/s, If 25s elapsed to close the valve. Find the

pressure intensity due to water hammer. 14
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What is Bernoullis Theorem? What are the limitations of
Bernoullis Theorem? 14
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. a) The water flowing in a pipe with velocity 10m/s. Fiind
kinetic energy and kinetic head. 7
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St vg aferet ofid s HIRRN

AUMNP/ME-404 (CBGS Contd...



b) Write conditions for continuity Equation in brief.

ATacg Geawul & forg nfee=e dag ¥ ferfag)

What is venturimeter ? Derive an expression for discharge
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through venturimeter.
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Write short note on any four of following.

Path line
Specific weight
Steady flow
Laminar flow
Streak line
Rotational flow
Uniform flow
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